
POSICONTROL 
USB/RS-232コンバータ 

シリーズ 

 
 
 
 
 
 
 

More info at www.lika.biz 
 
 

警告: 発注コードの末尾が「Sxxx」のエンコーダは電気及び機械的特性が標準品とは異なりますので、 

特別な結線の補足資料（技術資料）が添付されます。 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

* See the order code. 
E.g. C50-L-4096ZCU1...  

IF92 

FR Instructions de montage 
• Monter le codeur sur l'arbre du moteur; ne pas forcer l'arbre codeur ; 
• fixer la plaquette de fixation 1 à la partie postérieure du moteur en utilisant 

trois vis type M3 x 8 à tête cylindrique 2; 
• assurer une distance de sûreté entre le codeur et le moteur (environ 1 mm) 

afin de ne déformer pas la plaquette de fixation 1; 
• fixer  le  collier 3 au  niveau de l'arbre codeur (on conseille  d'appliquer  du 

frein-filet sur la vis M3 4); 
• la plaquette de fixation 1 doit permettre le mouvement radial du codeur afin

d'absorber le mauvais alignement entre l'arbre moteur et l'arbre codeur. La
plaquette de fixation 1 est fournie déjà installée. 

DE Montagehinweise 
• Geber auf die Motorwelle montieren; Belastungen der Geberwelle vermeiden; 
• Befestigungsfeder 1 auf der Rückseite des Motors mit Verwendung drei M3 x 

8 Zylinderschrauben 2 befestigen; 
• Geber  auf die richtige  Distanz zum Motor  setzen  (etwa  1 mm) so dass die 

Befestigungsfeder 1 nicht deformiert wird; 
• Klemmflansch 3 festschrauben  (Schraube  M3 4 könnt  ggf.  zusätzlich mit 

geeignetem Klebstoff befestigt werden); 
• die Befestigungsfeder  1 nimmt die radiale Toleranzen zwischen Motor- und 

Geberwelle auf, sie ist bei Auslieferung bereits am Geber montiert. 

 

ES Instrucciones de montaje 
• Montar el encoder en el eje del motor sin forzar el eje del encoder; 
• fijar  la  placa  de fijación 1 en la  parte  posterior  del  motor  mediante  tres 

tornillos 2 de cabeza cilíndrica tipo M3 x 8; 
• asegurarse de que el encoder y el motor  sean a una distancia de seguridad 

(aproximadamente 1 mm) para evitar la deformación de la placa 1; 
• fijar el collar 3 en el eje del encoder (aconsejamos aplicar el fijador de roscas 

en el tornillo 4); 
• la placa de fijación 1 debe permitir el movimiento radial del encoder 

suficiente para absorber el desalineamento entre eje motor y eje encoder. La 
placa de fijación 1 viene provista ya montada. 

EN Mounting instructions 
• Mount the encoder on the motor shaft; do not force the encoder shaft; 
• fasten the  fixing  plate 1 to  the  rear  of  the  motor  using  three  M3  x  8 

cylindrical head screws 2; 
• keep the  encoder  at  a safety  distance  from  the  motor  (about  1  mm)  to 

prevent the fixing plate 1 from warping; 
• fix the collar 3 to the encoder shaft (we suggest applying threadlocker to M3 

screw 4); 
• the fixing plate 1 must allow the encoder to move radially in order to absorb

the misalignment between motor shaft and encoder shaft. The fixing plate 1
is supplied already fixed to the encoder. 

IT Istruzioni di montaggio 
• Inserire l'encoder sull'albero motore; evitare sforzi sull'albero encoder; 
• fissare la molla di fissaggio 1 sul retro del motore per mezzo di tre viti M3 x 8 

a testa cilindrica 2; 
• tenere l’encoder a una corretta distanza dal motore (circa 1 mm) per evitare la 

deformazione della molla di fissaggio 1; 
• fissare il collare 3 dell’albero encoder (si consiglia un ulteriore fissaggio della 

vite M3 4 con frenafilletti); 
• la molla di fissaggio 1 deve consentire all’encoder un gioco radiale 

sufficiente per assorbire il disallineamento tra albero motore e albero 
encoder. La molla di fissaggio 1 viene fornita già assemblata sull’encoder. 

Electrical connections 
Signals A /A B /B 0 /0 +Vdc * 0Vdc Shield 

AB0 outputs 
(5-wire I5 type 

cable) 

Brown 
Marrone 
Braun 

Marrón 
Marron 

 
- 

Blue 
Blu 
Blau 
Azul 
Bleu 

 
- 

White 
Bianco 
Weiß 
Blanco 
Blanc 

 
- 

Red 
Rosso 
Rot 

Rojo 
Rouge 

Black 
Nero 

Schwarz 
Negro 

Noir 

Shield 
Schermo 
Schirm 

Malla 
Blindage 

EDE 9-pin 1 2 3 4 5 6 8 9 Case 

AB0, /AB0 
outputs 

(8-wire I8 type 
cable) 

Yellow 
Giallo 
Gelb 

Amarillo 
Jaune 

Blue 
Blu 
Blau 
Azul 
Bleu 

Green 
Verde 
Grün 
Verde 
Vert 

Orange 
Arancione 

Orange 
Anaranjado 

Orange 

White 
Bianco 
Weiß 
Blanco 
Blanc 

Grey 
Grigio 
Grau 
Gris 
Gris 

Red 
Rosso 
Rot 

Rojo 
Rouge 

Black 
Nero 

Schwarz 
Negro 

Noir 

Shield 
Schermo 
Schirm 

Malla 
Blindage 

Installation has to be carried out with power supply disconnected. 
L’installazione deve essere eseguita in assenza di tensione. 
Der Anschluss darf nur bei ausgeschalteter Versorgungsspannung erfolgen. 
La instalación sólo debe ser efectuada en ausencia total de tensión. 
Le montage du dispositif doit être effectué en absence totale de tension. 

 
〒171-0022 東京都豊島区南池袋 3-18-35 

OK ビル 2 階 
Tel: 03-5924-6750 Fax:03-5924-6751 
E-mail: sales@technology-l.com  
URL: http://www.technology-link.jp 
 

 
 

電気結線 
1: +Vdc 
 

デバイス電源 

2: 0V 
 

デバイス用０V 及び＊RS-232 用（＊使用される場合のみ） 

3: Tx 
 

デバイスの Rx 結線 

4: Rx デバイスの Tx 結線 
5: 外部電源端子番号 7 用の入力端子 
6: PC 接続用標準 A-USB プラグ付 USB ケーブル 
7: AC-DC 電源：入力電圧 ACCmin.100V, max. 240V, 出力電圧/ 標準 24V 
 

 

 

 

 

 

 

デバイスの接続のための RS-232 変換器への USB は、エンコーダ（例えば ASR58 / AMR58、
HM58 P、...）、位置表示（例えば LD200、...）、ロータリーアクチュエータ（RD シリー
ズ）として RS-232 ポートを装備しました 

警 告 
デバイスが+ 5Vdc（供給電圧：+ 24Vdc）より高い入力電圧を必要とする場合に
のみ、付属の外部電源 7 を接続してください。 

 

USB  RS232 コンバータ 



www.lika.biz Lika Electronic  
Tel. +39 0445 806600 Via S.Lorenzo, 25 
Fax +39 0445 806699 36010 Carrè (VI) - Italy 

 
 

オプションで以下の対のコードセット（注文コード）も用意されています。 

エンコーダモデル コネクター 対コードセット 
AMR58 MIL 32-pin EC-AMR-M32F 
ASR58 DSub 15-pin EC-ASR-D15F 

EM58 PA 
M12 12-pin EC-M12F12-S69-I5-0,5 
M23 12-pin EC-CR12F-S68-I5-0,5 

HM58 PN MIL 41-pin EC-HMPY-M41F 

HM58 PS 
M12 12-pin EC-M12F12-S69-I5-0,5 
M23 12-pin EC-CR12F-S70-I5-0,5 

HM58 PY MIL 41-pin EC-HMPY-M41F 
IF55 DSub 9-pin EC-IF55-D9M 
IF50, IF51, IF52 DSub 9-pin 

EC-IF/LD-D9M 
LD200 DSub 9-pin 
RD1xA CB M12 8-pin  

EC-RD1A-M12M8 RD1xA EC M12 8-pin 
RD1xA PB M12 8-pin 
RD6 EC M12 8-pin  

EC-RD6-M12M8 RD6 PB M12 8-pin 
RD6 PL M12 8-pin 

 


